
/sd ?=xhf/df

qm=;+= vr{ ;+s]t vr{ lzif{s sfo{qmdsf] gfd >f]t s}lkmot

kflnsf ejg 30,000  -           

;fd'bflos :jf:Yo O{sfO 7,339    -           

j8f sfof{no ejg lgdf{0f -j8f g+=$ / ^_ 5,000   -           

j8f sfof{nodf zf}rfno / cw'/f] sDkfp08jfn 

lgdf{0f -j8f g+= #_
1,250    

j8f sfof{nodf  sDkfp08jfn lgdf{0f -j8f g+= 

%_
1,250    

;fd'bflos cWoog s]Gb| ejg lgdf{0f ;]t'{ª 1,000    -           

dlxnf ejg lgdf{0f j8f g+= % sk'/ufFp 500      

dlxnf ejg lgdf{0f j8f g+= # ;]t'{ª 1,000    

dlxnf ejg lgdf{0f j8f g+= $ rfln; 1,000    -           

48,339      

sfof{no kmlg{r/ 1,500    -           

ltªr]t :jf=O{ = kmlg{r/ 50        -           

dlxnf ejgdf kmlg{r/ lgdf{0f j8f g+= ^ 200      -           

dlxnf ejgdf kmlg{r/ lgdf{0f j8f g+= ! 150      -           

;ftsGof cf=lj= kmlg{r/-j8f g+=^_ 150      

dlxnf ejgdf kmlg{r/ lgdf{0f j8f g+= !  'k? 150      -           

2,200        

3 31121 ;jf/L ;fwg :s'6/ vl/b 250          

4 31122 d]l;g/L  tyf cf}hf/
sfof{nosf] nflu d]l;g/L  tyf cf}hf/ 

pks/0f vl/b
1,000        

rf}/L dxf]T;j 300 -          

;'Ts]/L kz'nfO{ cfxf/f lat/0f 300 -          

ofs / la|df vl/b ul/ lat/0f 500 -          

k|b]zaf6 k|fKt x'g] :ofpsf] lj?jf 9'jfgL 1000 -          

t/sf/L lap ljhg lat/0f 200 -          

df6f] kl/If0f lzlj/ 300 -          

cfn'  k|j4g sfo{qmd 400

3,000        

;f]Dbfª k'n 3500 -           

atf;] – nfkf ;8s 3000 -           

emfnf{ª – ltªr]t – rkfªr]t ;8s 1500 -           

wfr]{– vflbª ;8s 3000 -           

ltlKnª – k'? lnªhf] ;8s 3000 -           

;8s ;'wf/ -lgdf{0f ePsf ;8s dd{t_ 700 -           

kfuf]df] b]lv :s'n;Dd zfvf ;8s lgdf{0f -j8f 

g+= $_af]/fª
2000 -           

;f]dbfª c:yfoL k'n 200 -           

cjO k'n-j8f g+=$_ 100

:s'n d'lgsf] @ j6f k'n lgdf{0f-j8f g+= #_ 900

af];f]/f] k'n-j8f g+=%_ 500

ltlKnª 7'nf] uf+pleq gfnf;lxt ;8s lgdf{0f 2000

ejg lgdf{0f31112

kmlg{r/ tyf lkmSr;{31115

;8s tyf k'n lgdf{0f

31131 kz'wg tyf jfujfgL ljsf; 

vr{

?lj EofnL ufpFkflnsf

/sd

cf=j=)&^÷&& 

kflnsf :tl/o k'FhLut sfo{qmd

1

2

ejg lgdf{0f tkm{ hDdf

kmlg{r/ tkm{ hDdf

6 31151

5

kz'wg tyf jfujfgL ljsf; vr{ tkm{ hDdf



sfdLuf+p–;]t{'ª ;8s 2100 -           

kflnsf ejg zfvf ;8s 2000 -           

24,500      

b'ª;]n n3' hnljB't-j8f g+= !_ 1,000    -           

DofDbL vf]nf n3' hnljB't -j8f g+= %_ 500      

ldGg'vf]nf n3' hnljB't -j8f g+= %_ 1,000    

vf]NkLvf]nf n3' hnljB't -j8f g+= #_ 500      

laB't kf]n 9'jfgL j8f g+= # 1,500    -           

ljB't ;+/rgf lgdf{0ftkm{ hDdf 4,500       

k|ckrf] b]lv 5'cf/ ;Dd vfg]kfgL 300

lnªrf] nfkfuª vfg]kfgL j8f g+= ! 400

laleGg ;+:yf;+u ;fem]bf/Ldf vfg]kfgL lgdf{0f 900

nAb'ª vfg]kfgL -j8f g+=@_ 300

lrxfg3/ lgdf{0f-j8f g+= @_ 1000

Rofth'ª sf]df] ;kmf ul/ u]6 agfpg] 400

j8f g+=@ df j8f sfof{nodf vfg]kfgL 400 -           

vfg]kfgL ;+/rgf lgdf{0f tkm{ hDdf 3,700        

9 31157 jg tyf jftfj/0f jg tyf jftfj/0f ;DalGw sfo{qmd 500          

x]lnKof8 lgdf{0f tyf dd{t 1,500    -           

xªsª vf]nf u]6 lgdf{0f -j8f g+= %_ 500      -           

ko{6g ;"rgf s]Gb| lgdf{0f-ko{6g jf]8{jf6 k|fKt_ 1,050    -           

lgdf{0f ePsf] ;f]dbfª u]6sf] :t/f]GgtL 300      -           

3f6' 3/sf] u|fp08 ;Dofpg]-j8f g+=^_ 150      

vflbª u'Daf h:tf vl/b-j8f g+= ^_ 100      

k]lGt:of dfg] dd{tf-j8f g+= $_ 400      

sfgL u]6 lgdf{0f -j8f g+= $_ 1,000    

k'? s'nf] lgdf{0f -j8f g+=!_ 350      

a|fu/ hf] u|fp08 ;Dofpg]-j8f g+=#_ 400      

cf/g ;fdfg vl/b -j8f g+= @_ 150      

afo'd le/ uf]=af=lgdf{0f -j8f g+= ^_ 500      

cGo ;fj{hlgs lgdf{0f tkm{ hDdf 6,400       

11 31171 k'+lhut ;'wf/

ko{6g k'jf{wf/ lgdf{0f cGtu{t kfª;fª, dfªg] 

/ j8f g+= $ tftf]kfgLdf lj>fd:yfn tyf 

xf]d:6]

4,000       

dfg] 8s'd]G6«L-j8f g+=%_ 200      -          

;8s l8=lk=cf/= 2,500   -          

2,700        

13 31511 e}k/L cfpg] k'+lhut e}k/L cfpg] k+'lhut vr{ 3,000        

;dk'/s sf]if af6 sfo{qmd ;+rfng 13,527   -          

atf;] – nfkf ;8s 2,000   -          

;ftsGof cf=lj= ejg dd{t-j8f g+=^_ 1,500   -          

17,027       

121,116      

65,112       

19,900      

206,128     

206,128     

-          

s'n hDDff

s'n jh]6

af+sL jh]6

k'lhut hDDff

31153

;8s tyf k'n lgdf{0f

ljB't ;+/rgf lgdf{0f

cGo ;fj{hlgs lgdf{0f

31156

;dk'/s sf]if hDdf

rfn' hDDff

j8f tkm{ hDDff

7

3115910

vfg]kfgL ;+/rgf lgdf{0f8

12 31172 k'lhut cg';Gwfg tyf k/fdz{

k'lhut cg';Gwfg tyf k/fdz{

14 ;dk'/s sf]if

6 31151

;8s tyf k'ntkm{ hDdf


